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Introduction

p.2, para. 1, line 7: "and space [29,27]."-> "and space [28,26]."

p.4, para. 2, line 3: "simulation [77,12,61]."-> "simulation [77,12,60]."

p.4, para. 3, line 2: "or event-driven [60,12] " -> "or event-driven [61,12]."

p.4, para. 4, line 5: "Nance and Sargent [60]," -> "Nance and Sargent [61],"

p.5, para. 3, line 2: "languages [61]." -> "languages [60]."

p.5, para. 3, line 4: "by [31,60]." -> "by [30, 61]."

p.6, para. 3, line 4: "feedback systems [32]." -> "feedback systems [31]."

p.6, para. 4, line 1-2: "Forrester [32]," - > Forrester [31],"

p.6, para. 5, line 3: "Epstein and Axtell ([24],p.1)," -> "Epstein and Axtell ([23],p.1),"

p.7, para. 2, line 2-3: "Epstein and Axtell [24]" - > "Epstein and Axtell [23]"

p.8, para. 2, line 12: "(close to 9 million) [45,46,70]," -> "(close to 9 million) [44,45,70],"

p.8, para. 2, line 14: "DYNASIM [64]" -> DYNASIM [65]"

p.9,para. 1, line 1: "1990s [50]." -> "1990s [49]."

p.9,para. 1, line 6: "[5,24,36]" -> "[5,23,35]"

p.9,para. 1, line 8: "[19,49,68,36,35]" -> "[19,48,68,35,34]"

p.9,para. 1, line 9: "Gilbert [36]" -> "Gilbert [35]"

p.9,para. 3, line 8: "explicit model [26]." -> "explicit model [25]."

p.10,para. 4, line 2: "1953 [40]," -> "1953 [39],"

p.11,para. 1, line 9: "HÖMSKE [47]," -> "HÖMSKE [46],"

p.11,para. 1, line 14: "in 1984 [41]," -> "in 1984 [40],"

p.11,para. 3, line 3: "applications [37]," -> "applications [36],"

p.12, para. 1, line 6: "the risks better [28,25]." -> "the risks better [27,24]."

p.12, para. 2, line 2: "Cogneau and Grimm [39]." -> "Cogneau and Grimm [38]."

p.13, para. 1, line 5: "and Giesecke [34]." -> "and Giesecke [33]."

p.13, para. 2, line 9: "Heesterbeek [44]." -> "Heesterbeek [43]."

p.13, para. 2, line 11: "[34] that it is" -> "[33] that it is"

p.13, para. 4, line 3: "Kahn [51]" -> "Kahn [50]"

p.14, para. 1, line 6: "varied [48]" -> "varied [47]"

p.14, para. 2, last line: "Barratau" -> "Barrateau"

p.17, para. 1, last line: "stakeholders, see [23]" -> "stakeholders, see [22]"

p.17, para. 2, line 3: "Matlab simulation models [26,17]" -> "Matlab simulation models [25,17]"

p.19, para. 1, line 2: "We" -> "we".

p.20, para. 1, line 5: "cf. [23]" -> "cf. [22]"

p.22, para. 3, line 9: "of all cases [22]." -> "of all cases [21]."

p.22, Design of the Smallpox Model, line 2: "pable" -> "able".

p.23, para. 2, line 2: "in the literature [30,2]." -> "in the literature [29,2]."

p.23, para. 2, line 11: "smallpox models [21,42,33,54,55]." -> "smallpox models [51,41,32,54,55]."

p.26, para. 6, last line: "[21,42,33]." -> "[51,41,32]."

p.27, para. 1, line4: "modern societies [22]." -> "modern societies [21]."

Article A

List of figures, 1: "Nature" -> "Natural".

1, para.2, line 5: "wasw" -> "was".

4.1, para.1, line 10: "on a government" -> "of a government".

4.4, para.2, line 6: "First, to acr" -> "First, to act".

5.2, para.2, line 1: "occur" -> "occurs".

5.3, para.1, line 8: "nature" -> "natural".

7.1, para.2, line 3: "design on" -> "design".

7.1, para.2, The flood function, line 2: "the time t+1" -> "at the time t+1".

7.3, equation (2) and 7.4, equation (3): hi(x) is a binary constraint test that returns 1 if the constraint is violated and 0 otherwise. The function gi(x,ω) is a similar binary constraint test, the difference is that in this case the constraints are not only affected by the policy strategy x but by the random variables in the vector ω.

8.3, Input to the Spatial Model, Digital elevation: "see level" -> "sea level".

9, three lines and six lines after equation (6): "range 01" -> "range 0 to 1"

Article B

1, para.4, line 9: "subsidiary" -> "subsidy"

1, para.4, line 16: "trough" -> "through".

4.1, Governmental Load, line -1: "milliards" -> "billions".

4.1, Balance for Insurance Companies, line 2: "incomes" -> "income".

4.1, Balance for Insurance Companies, line 4: "has" -> "have".

4.1, Balance for Individual Property Owners, para.2, line -4: "subsidy" -> "subsidise".

Figure 3, histogram figure at foot of first column should be "-0.015" instead of "15 000" (15 000 HUF expressed in millions)

4.2, Governmental Load, line 5: "there compensations" -> "their compensations"

4.3, Balance for Re-Insurance Fund, line 2: "contributes with" -> "covers".

Article C

Introduction, para.2, line 6: "press" -> "pressure".

Introduction, para.2, line 13: "trough" -> "through".

Simulation Model, line -4: "trough" -> "through".

Mathematical Representation, para.1, line 7: "(" should be removed.

Article D

Introduction, para. 1, line 2: "greenhouse gasses" -> "other greenhouse gases". Introduction, para. 1, line 5: "losses escalates" -> "losses escalate".

Introduction, para. 1, line 7: "raise" -> "rise".

Introduction, para. 1, line 9: "effect" -> "affect".

Introduction, para.2, line 2: "effect part of the basin, has" -> "affect part of the basin, have".

The Upper Tisza Case; para.3, line 5: "trough" -> "through".

The Consumat Approach, para.2, line 3: "may more" -> "may be more". 

Discussion and Future Research, line 4: "approach" -> "approaching".

Article E

1, para.5, line -3: "subsidiary" -> "subsidy".

1, para.6, line 5: "trough" -> "through".

2, para.4, line 4: "intension" -> "intention".

Fig.1: There should be an arrow from "Catastrophe Module" to "Consequence Module"

2.1, equation (just after table 1): instead of PLOC1(c1,100) the left side of the equation should read:  PFAILURE(100, LOC1) = P(g(100, LOC1)<0)=0.12. The sentence "In this case, ci, collects the properties at location i." should be omitted.

2.2.1.1., line -3: "were" -> "where".

2.2.2.2., line 2: "insurances" -> "insurance".

2.2.2.2., line -5: "contributed" ->: "attributed".

2.2.3.1., para.2, line 2: "non-subsidises" -> "non-subsidised". 

3.1, equation, subscripts of p and v: "sk" -> "jk".

4, para 3, line 6: "immeasurable" -> "unmeasurable".

Article F

Abstract, line 2: "n" -> "in".

5.1, para 2., line 1: "scneario" -> "scenario".

6, para.3, line 2: "of in" ->"in".

Article G

2, para 2, line 3: "In the simulation, morning" -> "In the morning,"

Article H

2, para. 4, line 7: "degree of distribution" -> "ratio of links to nodes".

4, para 1, line 9: "fractions" -> "ratios".

4, para 1, line -5: "collocated" -> "co-located".

Appendix B

Questionnaire, line 1 "decisionprocess" -> "decision process".

Questionnaire, Tradition, line 2: "may" -> "my".

Questionnaire, Risk profile, line 2: "economcial" -> "economical". 

Questionnaire, Risk profile: two questions have been accidentally merged here, the reply "I generally avoid economical risks" should be followed by a "(yes/no)". The sentence "Confidence in insurance companies" should be bulleted.

p.193 The questions "Tradition", "Risk profile", "Confidence in insurance companies", "History", and "Social influence", should be omitted.

